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FOR t=0 to 1 STEP 0.01

NEXT t
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FOR t=0 to 1 STEP 1/128

NEXT t
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d N=100 )

dt=1/N
FOR j=0 to N
t=j*dt

NEXT j
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e complexmap.bas

REM 00O w=z"3 00000D0OOO0OO0OOODODOOO
OPTION ARITHMETIC complex

DECLARE EXTERNAL SUB segment

LET w=3

SET WINDOW -w,w,-w,W

DRAW grid(0.5,0.5)

PRINT "OOOOOOODODOOOO w=z"3 OO0O"
PRINT "30 00000 OOOOOOOoagr

CALL cinput(z1)

CALL cinput(z2)

CALL cinput(z3)

CALL segment(z1,z2,2)

CALL segment(z2,2z3,3)

CALL segment(z3,z1,4)

END

O© 00 NO O d WN -

L T T N S ST ST
~NOoO O W N O

REM 0O OOOOO
EXTERNAL SUB segment(z1,z2,col)
OPTION ARITHMETIC complex
LET i=SQR(-1)
SET LINE COLOR col
REM 0O OO0
SET LINE width 3
PLOT LINES
PLOT LINES : re(zl),im(zl);re(z2),im(z2)
REM DD 0OO0O0O0OO0D0OO0DOOODOO
SET LINE width 2
FOR t=0 TO 1 STEP 1/128
LET z=(1-t)*zl+t*xz2
CALL MAPPLOT(z)
NEXT t
END SUB
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REM OO w=f(z) JOOODODO PLOTO O
EXTERNAL SUB mapplot (z)

OPTION ARITHMETIC COMPLEX

DEF f(z)=z"3

LET w=f(z)

PLOT LINES: re(w),im(w);

END SUB
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REM 0D OOOO

EXTERNAL SUB cinput(z)

OPTION ARITHMETIC COMPLEX

INPUT PROMPT "OODOOOOO: ": x, ¥y
LET I=SQR(-1)

LET z=x+Ixy

END SUB
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